Question Paper Name :

National Testing Agency

M Ed Eng 25th June 2023 Shift 2

Subject Name : M Ed Eng
Creation Date : 2023-06-25 18:05:11
Duration : 120
Total Marks : 400
Display Marks: Yes

M Ed
Group Number : 1
Group Id : 686340386
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 400
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

Part A
Section Id : 686340767
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401283
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 68634038993 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Read the passage carefully and answer the questions that follows:

The reformer must know that what mowves people 18 the authentic life, not mere writing. The newspapers and
journals that Lolananya Tilak and Gandhiji ran the books they wrote. sold little, but had enormous effect.
Their writing was known to reflect and be just an extension of their exemplary lives. It was the authenticity of
thewr lives which lent weight to their message. to their example. All knew that their lives were an integral
whole - they were not moral in public life and lax in private. nor vice versa. They were not full of pious
thoughts and sacred resolutions within the walls of a temple and cheats outside.

A writer who 1s merely entertaining his readers, even one who is merely informing them. can do what he wants
with the rest of his life. But the writer who sets out to use his pen to reform public life cannot afford such
dualities.

Here 13 the testimony of one great man — Gandhiji — about the influence of another. Lokmanya Tilak: I
believe that an editor who has anything worth saying and who commands a clientele cannot be easily hushed.
He delivers his finished message as soon as he 1s put under duress. The Lokmanya Spoke more eloquently
trom the Mandalay fortress than through the columns of the printed Kesari. His influence was multiplied
thousandfold by his imprisonment and his speech. and his pen had acquired much greater power after he was
discharged than before his imprisonment. By his death we have been editing his paper without pen and speech
through the sacred resolution of the people to realise his life’s dream. He could possibly have done more if he
were today in the flesh preaching his view. Critics like me would perhaps be still finding fault in this
expression of his or that, Today his message rules millions of hearts which are determined to raise a permanent
living memorial by the fulfilment of his ambition in their lives.”

Sub questions

Question Number : 1 Question Id : 68634038994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lokmanya spoke more eloquently from the Mandalay fortress than through the columns of the printed Kesari,

What 1s the meaning of ‘eloquently” in the above sentence?

1. announce solemnly

(B

. Convert in the intelligible language

L%

. Language understood by the uneducated mass
4. Clearly expressive

Options :

686340154001. 1
686340154002. 2
686340154003. 3
686340154004. 4

Question Number : 2 Question Id : 68634038995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is the result of Lokmanya Tilak’s exemplary life 7

1. People resolved to fulfil his life’s dreams

| )

. The newspapers edited by him did not incur money loss
3. The books written by him were useful

4. Crities still find fault with his views

Options :

686340154005. 1
686340154000. 2
686340154007. 3
686340154008. 4

Question Number : 3 Question Id : 68634038996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the context of the passage. which of the following statement about Lokmanya Tilak and Mahatma Gandhi 1s
true?

1. Their influence on people was negligible

| )

. Very few people used to read the newspapers edited by them

. They were moral in private life but lax in public life

L¥N]

4. They were allowed to edit their newspapers even from inside the jail

Options :

686340154009. 1
686340154010. 2
686340154011. 3
686340154012. 4

Question Number : 4 Question Id : 68634038997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the general tendency of critics. according to the passage?

1. To find fault with one or the other expression of a writer

[

. To price only those writers whom they like
3. To suggest new ideas to the public
4. To justify their criticism

Options :

686340154013. 1
686340154014. 2



686340154015. 3
686340154016. 4

Question Number : 5 Question Id : 68634038998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Lokmanya Tilak’s messages were most effective:
1. when he delivered through his editorials
2. betore his imprisonment
3. when he became an informer
4. when he delivered speeches

Options :

686340154017. 1
686340154018. 2
686340154019. 3
686340154020. 4

Question Id : 68634038993 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage carefully and answer the questions that follows:

The reformer must know that what mowves people 18 the authentic life, not mere writing. The newspapers and
journals that Lolananya Tilak and Gandhiji ran the books they wrote. sold little, but had enormous effect.
Their writing was known to reflect and be just an extension of their exemplary lives. It was the authenticity of
thewr lives which lent weight to their message. to their example. All knew that their lives were an integral
whole - they were not moral in public life and lax in private. nor vice versa. They were not full of pious
thoughts and sacred resolutions within the walls of a temple and cheats outside.

A writer who 1s merely entertaining his readers, even one who is merely informing them. can do what he wants
with the rest of his life. But the writer who sets out to use his pen to reform public life cannot afford such
dualities.

Here 13 the testimony of one great man — Gandhiji — about the influence of another. Lokmanya Tilak: I
believe that an editor who has anything worth saying and who commands a clientele cannot be easily hushed.
He delivers his finished message as soon as he 1s put under duress. The Lokmanya Spoke more eloquently
trom the Mandalay fortress than through the columns of the printed Kesari. His influence was multiplied
thousandfold by his imprisonment and his speech. and his pen had acquired much greater power after he was
discharged than before his imprisonment. By his death we have been editing his paper without pen and speech
through the sacred resolution of the people to realise his life’s dream. He could possibly have done more if he
were today in the flesh preaching his view. Critics like me would perhaps be still finding fault in this
expression of his or that, Today his message rules millions of hearts which are determined to raise a permanent
living memorial by the fulfilment of his ambition in their lives.”

Sub questions



Question Number : 1 Question Id : 68634038994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lokmanya spoke more eloquently from the Mandalay fortress than through the columns of the printed Kesari.

What is the meaning of ‘eloquently” in the above sentence?

1. announce solemnly

| B

. Convert in the intelligible language

[#¥]

. Language understood by the uneducated mass
4. Clearly expressive

Options :

686340154001. 1
686340154002. 2
686340154003. 3
686340154004. 4

Question Number : 2 Question Id : 68634038995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the result of Lokmanya Tilak’s exemplary life 7

1. People resolved to fulfil his life’s dreams

| )

. The newspapers edited by him did not incur money loss
3. The books written by him were useful

4. Crities still find fault with his views

Options :

686340154005. 1
686340154006. 2
686340154007. 3
686340154008. 4

Question Number : 3 Question Id : 68634038996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the context of the passage. which of the following statement about Lokmanya Tilak and Mahatma Gandhi 1s
true?

1. Their influence on people was negligible

| B}

. Very few people used to read the newspapers edited by them

[FN]

. They were moral in private life but lax in public life
4. They were allowed to edit their newspapers even from inside the jail

Options :

686340154009. 1
686340154010. 2
686340154011. 3
686340154012. 4

Question Number : 4 Question Id : 68634038997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the general tendency of critics, according to the passage?

1. To find fault with one or the other expression of a writer

[ 5]

. To price only those writers whom they like
3. To suggest new ideas to the public
4. To justify their criticism

Options :

686340154013. 1

686340154014. 2

686340154015. 3
686340154016. 4

Question Number : 5 Question Id : 68634038998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Lokmanya Tilak’s messages were most effective:
1. when he delivered through his editorials
2. betore his imprisonment
3. when he became an informer
4. when he delivered speeches
Options :

686340154017. 1
686340154018. 2



686340154019. 3
686340154020. 4

Sub-Section Number : 2
Sub-Section Id : 6863401284
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634038999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:;

Rennet casein is produced skin milk by coagulation remet. Soluble calecium ions are
required this reaction. Sufficient quantities caleium 1s already present in milk.

1. from. with. for, of
2. from. with. of. for

. from. in. with. for

LN}

4. from. of, for, with

Options :

686340154021.
686340154022.
686340154023.
686340154024.

B oW N~

Question Number : 6 Question Id : 68634038999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:;

Rennet casein is produced skin milk by coagulation remet. Soluble calecium ions are
required this reaction. Sufficient quantities caleium 1s already present in milk.

1. from. with. for, of
2. from. with. of. for

. from. in. with. for

[N}

4. from. of, for, with

Options :

686340154021.
686340154022.
686340154023.
686340154024.

AW N~



Question Number : 7 Question Id : 68634039000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
A |Plagiarize 1. |Disrespectful
B. [Dubious I |Gift
C. [Contemptuous | IIL [Uncertain
D. [Hamper IV, [Copy

Choose the correct answer from the options given below:

1. A-IV, B-II. C-1. D-IIT

| B

. A-IIL B-I, C-IV, D-II
3. A-IV. B-III. C-1. D-II
4. A-1. B-III. C-IV, D-II

Options :

686340154025. 1
686340154026. 2
686340154027. 3
686340154028. 4

Question Number : 7 Question Id : 68634039000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Plagiarize 1. |Disrespectful
E. [Dubious 11 |Gift
C. [Contemptuous | [IL [Uncertain
D. [Hamper IV |Copw

Choose the correct answer from the options given below:

1. A-IV, B-1I, C-I, D-III

| )

. A-IIL B-1, C-IV. D-II
3. A-IV. B-III. C-1. D-II
4. A-I, B-III. C-IV, D-II

Options :

686340154025. 1
686340154026. 2
686340154027. 3
686340154028. 4



Question Number : 8 Question Id : 68634039001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the suitable grammatically correct sentence from the given options.

1. The team is confident to win the match

-

2. The team is confident of winning the match
3. The team is confident of win the match
4. The team is confident for winning the match
Options :
686340154029. 1
686340154030. 2

686340154031. 3
686340154032. 4

Question Number : 8 Question Id : 68634039001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Select the suitable grammatically correct sentence from the given options,

1. The team is confident to win the matech

b

. The team is confident of winning the match
3. The team is confident of win the match
4. The team is confident for winning the match

Options :

686340154029. 1
686340154030. 2
686340154031. 3
686340154032. 4

Question Number : 9 Question Id : 68634039002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blank with appropriate word from the options given below:

The foodgrains stocks in India are at all tume

1. highest

| B

. high
3. lowest
4. cost

Options :

686340154033. 1
686340154034. 2
686340154035. 3
686340154036. 4

Question Number : 9 Question Id : 68634039002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blank with appropriate word from the options given below:

The foodgrains stocks in India are at all time

1. highest

| B

 high
3. lowest
4. cost

Options :

686340154033. 1
686340154034. 2
686340154035. 3
686340154036. 4

Question Number : 10 Question Id : 68634039003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct spelling word for:
"A board game in which players buildup words from small size lettered tiles."

1. Scrablle

| )

. Serabble
3. Skrable

4, Serablee

Options :

686340154037. 1
686340154038. 2
686340154039. 3
686340154040. 4

Question Number : 10 Question Id : 68634039003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct spelling word for:

"A board game in which players buildup words from small size lettered tiles.”

1. Serablle

[

. Scrabble
3. Skrable

4. Serablee

Options :

686340154037. 1
686340154038. 2
686340154039. 3
686340154040. 4

Question Number : 11 Question Id : 68634039004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 2x 1 :
If 5x+4y =83 and h= I—. then the value of 27 is:
3y

1.83

| )

i
3. 18
4.4

Options :

686340154041. 1
686340154042. 2
686340154043. 3
686340154044. 4

Question Number : 11 Question Id : 68634039004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 5x+4y = §3 and ;:—: = l% . then the value of x¥* 1 is:
1.83
2. 72
3.18
4.4
Options :

686340154041. 1
686340154042. 2
686340154043 3
686340154044. 4

Question Number : 12 Question Id : 68634039005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the greatest possible length which can be used to measure exactly the lengths 16 m 65 ecm. 9 m and 4 m
05 em.

1.16m

[ ]

.95 em

.65 cm

Laa

4. 45 em

Options :



686340154045. 1
686340154046. 2
686340154047. 3
686340154048. 4

Question Number : 12 Question Id : 68634039005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the greatest possible length which can be used to measure exactly the lengths 16 m 65 ecm. 9 m and 4 m
05 em.

1.16m
2.95 em

.65 cm

LFN]

4. 45 ¢m

Options :

686340154045. 1
686340154046. 2
686340154047. 3
686340154048. 4

Question Number : 13 Question Id : 68634039006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average of marks of 15 papers is 42. The average of marks of first § papers 1s 45 and that of the last 8

811‘1

papers is 36, The marks of 8" paper are:

1. 15

| ]

16
e b
4 18

Options :

686340154049. 1
686340154050. 2
686340154051. 3
686340154052. 4

Question Number : 13 Question Id : 68634039006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average of marks of 15 papers is 42. The average of marks of first § papers 1s 45 and that of the last 8

811‘1

papers is 36. The marks of 8" paper are:

1.15

| )

. 16

L

32 [
4. 18

Options :

686340154049. 1
686340154050. 2
686340154051. 3
686340154052. 4

Question Number : 14 Question Id : 68634039007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 years ago. the ratio of ages of Vikas and Amish was 1:3. If the ratio of their present ages 1s 3:5, then after
five years the ratio of their ages will be:

1.2:5

Options :

686340154053. 1
686340154054. 2
686340154055. 3
686340154056. 4

Question Number : 14 Question Id : 68634039007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 years ago. the ratio of ages of Vikas and Amish was 1:3. If the ratio of their present ages 1s 3:5. then after
five years the ratio of their ages will be:

1.2:5



Options :

686340154053. 1
686340154054. 2
686340154055. 3
686340154056. 4

Question Number : 15 Question Id : 68634039008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu undertake to do a piece of work for 2 3.600. Sonu along can do it in 6 days while Monu alone
can do it in 8 days. With the help of Ramu, they finish it in 3 days. The share of Ramu (in ) will be :

1. 1350

[ ]

. 900
3. 1200
4. 450

Options :

686340154057. 1
686340154058. 2
686340154059. 3
686340154060. 4

Question Number : 15 Question Id : 68634039008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu undertake to do a piece of work for T 3.600. Sonu along can do it in 6 days while Monu alone
can do it in 8 days. With the help of Ramu, they finish it in 3 days. The share of Ramu (in ) will be :

1. 1350

| )

Q00
3. 1200
4. 450

Options :

686340154057. 1
686340154058. 2
686340154059. 3
686340154060. 4

Question Number : 16 Question Id : 68634039009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There are 40 girls in a row. Muskan shifted her position 5 places to her left so that there are 10 girls to her left
in the row. If Nisha was 4 places right to Muskan's original position. what is the Nisha's position from the
Muskan’s left side row end?

{
[ %]
=

4.24

Options :

686340154061. 1
6863401540062. 2
686340154063. 3
686340154064. 4

Question Number : 16 Question Id : 68634039009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There are 40 girls in a row. Muskan shifted her position 5 places to her left so that there are 10 girls to her left
in the row. If Nisha was 4 places right to Muskan's original position, what i the Nisha's position from the
Muskan’s left side row end?

{ )
[ %
[wsc]

4. 24

Options :

686340154061. 1
686340154062. 2
686340154063. 3
686340154064. 4

Question Number : 17 Question Id : 68634039010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If in a certain code. 15789 is written as EGKPT and 2436 is written as ALUR, how is 24539 written in that
cade?

1. ALGTU
2. ALEUT
3. ALGUT

4. ALGRT

Options :

686340154065. 1
686340154066. 2
686340154067. 3
686340154068. 4

Question Number : 17 Question Id : 68634039010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If in a certain code. 157890 1s written as EGKPT and 2436 15 written as ALUR. how 15 24539 written in that
code?

1. ALGTU
2. ALEUT
3, ALGUT

4. ALGRT

Options :

686340154065. 1
686340154066. 2
686340154067. 3
686340154068. 4

Question Number : 18 Question Id : 68634039011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statements : (1) All leaves are dim.

(1) No dim 1s brush.

(111) All tops are brushes.
Conclusions : I. Some tops are leaves.

II. Some dim 1s top.

I11. Some dim is leaf.

I'V. Some tops are brushes.
Choose the correct option from the following:

1. Only I and II follow

| )

. Only II and I1T follow

L% ]

. Only III and IV follow
4. Only I and IV follow

Options :

686340154069. 1
686340154070. 2
686340154071. 3
686340154072. 4

Question Number : 18 Question Id : 68634039011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statements : (1) All leaves are dim.

(1) No dim 1s brush.

(111) All tops are brushes.
Conclusions : I. Some tops are leaves.

II. Some dim 1s top.

I11. Some dim is leaf.

I'V. Some tops are brushes.
Choose the correct option from the following:

1. Only I and II follow

| )

. Only II and I1T follow

L% ]

. Only III and IV follow
4. Only I and IV follow

Options :

686340154069. 1
686340154070. 2
686340154071. 3
686340154072. 4

Question Number : 19 Question Id : 68634039012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A letter from there matrices can be represented first by its row and then the column number.

Matrix-I
o1t 23 [«
0 JF JanJo |t
1 1 JoJFfa |
2 [ANnJot JF
3 JofF i v Ja
4 Nt JAJF Jo
Matrix-I1
s 16 |78 [o |
5 IsE I Ir
6 H s [E]T [B
7 Bir s |E
§ EH]|T B |s
9 |t s [ [B |

Identify the correct set for the word FAITH :
1.43, 42, 41, 78, 89
2. 35,34, 23,76, 79
3.24, 31. 10. 59, 57
4.12. 20. 40. 68. 65
Options :
686340154073. 1
686340154074. 2

686340154075. 3
686340154076. 4

Question Number : 19 Question Id : 68634039012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A letter from there matrices can be represented first by its row and then the column number.

Matrix-I

ot 2B |4
0o [F [a N]o [t
1 1 JoFla |~
2 AN ot JF
3 JoJF Jt [ Ja
4+ N [AF Jo
Matrix-I1
s e |78 [o |
5 Is E I It
6 [H s [E]T |B
7 BTt s [E B
s [EE|r[B s
9 |t s [eH |B |

Identify the correct set for the word FAITH :

1.43.42. 41, 78, 89
2.3%,:34,23, 76,79
3.24.31.10, 59, 57
4.12.20.40. 68. 65
Options :
686340154073. 1
686340154074. 2

686340154075. 3
686340154076. 4

Question Number : 20 Question Id : 68634039013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the pair that has the same relationship as the original pair of words given below :

Egg : Omelette

1. Dam : River

(B}

. Student : Classroom
3. Onion : Jam
4. Clay : Pottery

Options :



686340154077. 1
686340154078. 2
686340154079. 3
686340154080. 4

Question Number : 20 Question Id : 68634039013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the pair that has the same relationship as the original pair of words given below :

Egg : Omelette

 |=]

1. Dam : River

| B

. Student : Classroom
3. Onion : Jam
4. Clay : Pottery

Options :

686340154077. 1
686340154078. 2
686340154079. 3
686340154080. 4

Question Number : 21 Question Id : 68634039014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which article of the Indian constitution provides for the institution of Panchayati Ra;?

1. Article 36
2. Article 39
3. Article 40
4. Article 48

Options :

686340154081. 1

686340154082. 2

686340154083. 3
686340154084. 4

Question Number : 21 Question Id : 68634039014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which article of the Indian constitution provides for the institution of Panchayati Raj?

1. Arsticle 36

[ ]

CArtiele 39
3. Article 40

4. Article 48

Options :

686340154081. 1
686340154082. 2
686340154083. 3
686340154084. 4

Question Number : 22 Question Id : 68634039015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Book Name) LIST 1T {Author Name))
A My Truth 1. Mahatma Gandhi
B. |The Broken Wings IT. Indira Gandhi
C. DMy Experiments with Truth] II1. [Sarojini Naidu
D. [Exam Warriors IV, |Narendra Modi

Choose the correct answer from the options given below:

1. A-IV, B-III. C-I, D-II

| )

AL B-IIL, C-1L, D-IV
3. A-IL B-IIL, C-1, D-IV
4. A-II, B-IIL. C-IV. D-I

Options :

686340154085. 1
686340154086. 2
686340154087. 3
686340154088. 4

Question Number : 22 Question Id : 68634039015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Book Name) LIST II (Author Name)
A My Truth I |Mahatma Gandhi
B. |The Broken Wings II. |Indira Gandhi
C. My Experiments with Truth] II1. |Sarojini Naidu
D. [Exam Warriors IV. [Narendra Modi

Choose the correct answer from the options given below:

1. A-IV, B-III. C-I. D-II

| )

. A-TIL B-ILL, C-1. D-IV
3. AL B-II1. C-1. D-IV
4, A-IIL, B-1III. C-IV. D-I

Options :

686340154085. 1

686340154086. 2

686340154087. 3
686340154088. 4

Question Number : 23 Question Id : 68634039016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who was the first Indian women to win gold in Asian games 7

1.PT. Usha

2. Shing Wilson

LS

. Kamaljeet Sandhu
4. Shweta Chaudhary

Options :

686340154089. 1
686340154090. 2
686340154091. 3
686340154092. 4

Question Number : 23 Question Id : 68634039016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who was the first Indian women to win gold in Asian games 7

1.PT. Usha

| 5]

. Shing Wilson

%]

. Kamaljeet Sandhu
4. Shweta Chaudhary

Options :

686340154089. 1
686340154090. 2
686340154091. 3
686340154092. 4

Question Number : 24 Question Id : 68634039017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R:
Assertion A : Radio waves bend in a magnetic field.

Reason R : Radio waves are electromagnetic in nature.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1z NOT the correct explanation of A
3. A is true but R is not false

4. A is not false but R 1s true

Options :

686340154093. 1
686340154094. 2
686340154095. 3
686340154096. 4

Question Number : 24 Question Id : 68634039017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R:
Assertion A : Radio waves bend in a magnetic field.

Reason R : Radio waves are electromagnetic in nature.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 13 NOT the correct explanation of A
3. A 1s true but R is not false

4, A is not false but R is true

Options :

686340154093. 1
686340154094. 2
686340154095. 3
686340154096. 4

Question Number : 25 Question Id : 68634039018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements:

Statement I : Dolamite is used as refractory material and flux in iron and steel industry.

Statement II : Lignite and low grade bituminous coal were formed during the quaternary period.

In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct
2. Both Statement [ and Statement II are incorrect
3, Statement I i correct but Statement II is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

686340154097. 1
686340154098. 2
686340154099. 3
686340154100. 4

Question Number : 25 Question Id : 68634039018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements:

Statement I : Dolamite is used as refractory material and flux in iron and steel industry.

Statement IT : Lignite and low grade bituminous coal were formed during the quaternary period.

In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct
2. Both Statement [ and Statement II are incorrect
3, Statement I is correct but Statement II is incorrect

4. Statement [ is incorrect but Statement II is correct

Options :

686340154097. 1
686340154098. 2
686340154099. 3
686340154100. 4

Part B: M Ed

Section Id : 686340768
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401285
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634039019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The school of Philosophy which not in favor of giving instruction to children but they want that teacher should
be very cautious all the time and should behave with the children with love and sympathy.

1. Naturalism

| B}

. Pragmatism

. Humanism

[FN]

4. Existentialism

Options :
686340154101. 1



686340154102. 2
686340154103. 3
686340154104. 4

Question Number : 26 Question Id : 68634039019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRR &1 a8 [JaRYRI & a=di &1 a1 4 &1 qudH 98l el afch a8 a1gdl ¢ o [Rigie gomn
§gd 9y T ayl faenfial & Oy R 3R geryld & 91y §did L. Peakl o -

1. Ugpfdarg
2. Yhioag

3. HIHddIdIg
4. JTadrg

Options :

686340154101. 1
686340154102. 2
686340154103. 3
686340154104. 4

Question Number : 27 Question Id : 68634039020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who belongs to this famous statement -

"Literacy 1s not the end of education nor education the beginning. It is only one of means whereby men and
women can be educated.”

—

. Allaman Iqgbal

b2

. M. K. Gandhi
3. John Dewey

4. 1. 1. Rousseau

Options :

686340154105. 1
686340154106. 2
686340154107. 3
686340154108. 4

Question Number : 27 Question Id : 68634039020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340154105. 1
686340154106. 2

686340154107. 3
686340154108. 4

[F5]

Question Number : 28 Question Id : 68634039021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

This famous statement "The culture of a society means the total way of lift of the society" is given by

1. Maciver and Page

| 5]

. Ogburn
3. E. B. Taylor

4. A K. C. Otaway

Options :

686340154109. 1
686340154110. 2
686340154111. 3
686340154112. 4

Question Number : 28 Question Id : 68634039021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154109. 1
686340154110. 2
686340154111. 3
686340154112. 4

| B

Laa

Ny

Question Number : 29 Question Id : 68634039022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which governance system accept the following concept - "The teacher is taken to be a torch in whose light the
children reach their destination.”

1. Conununism
2. Autocratic Governance
3. Democracy
4. Dictatorship
Options :
686340154113. 1
686340154114.2

686340154115. 3
686340154116. 4

Question Number : 29 Question Id : 68634039022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frfifad srayRom & S W RE-HoT WieR Hd E -
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1. gTRaTg
[ Rog
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Options :
686340154113. 1
686340154114. 2

686340154115. 3
686340154116. 4

| B

L]

Question Number : 30 Question Id : 68634039023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who is the father of Sociology?

1. Max Weber

B

. Comte
3. Ogburn
4. Ottaway

Options :

686340154117. 1
686340154118. 2
686340154119. 3
686340154120. 4

Question Number : 30 Question Id : 68634039023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154117. 1
686340154118. 2
686340154119. 3
686340154120. 4

Question Number : 31 Question Id : 68634039024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Whose statement this?
"Psychology 1s the positive science of conduct and behaviour."
1. Woodworth
2. Watson
3. McDougal
4. William Woundt
Options :
686340154121. 1
6863401541222

686340154123. 3
686340154124. 4

Question Number : 31 Question Id : 68634039024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BEA G A KT A

TG STER0l ] TIaER &1 YSRIES A gl
1.gsad

qreE

. HP ST
4. fafergr dse

| B
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Options :

686340154121. 1
686340154122. 2
686340154123. 3
686340154124. 4

Question Number : 32 Question Id : 68634039025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What iz "Plateaus of learning"?

1. Fast learning situation
2. Slow learning situation
3. Zero or negative learning
4. Fall and rise in learning

Options :

686340154125. 1

686340154126. 2

686340154127. 3
686340154128. 4

Question Number : 32 Question Id : 68634039025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HFNTH BT U8R (We) T1 87
1. gd sty ot fufy
2. Tig HfeATy et fRufer
3. Y 3Ydl BUTHS STy
4. HfEH § IAR 3R 9g@

Options :

686340154125. 1
686340154126. 2
686340154127. 3
686340154128. 4

Question Number : 33 Question Id : 68634039026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which learning theory Reinforcement is most important?

1. Trial and Error theory

| )

. Operant conditioning
3. Classical conditioning
4. Contiguous conditioning theory

Options :
686340154129. 1



686340154130. 2
686340154131. 3
686340154132. 4

Question Number : 33 Question Id : 68634039026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
forg aiferm R © waed galide ggaynl 82
1. U4 - Afe s

2. fepamuge srpaH

3. YS! 3P

4, gated goivaT e e

Options :

686340154129. 1
686340154130. 2
686340154131. 3
686340154132. 4

Question Number : 34 Question Id : 68634039027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which learning theory accept that "The nature of learning is cognitive and enduring”?

1. Insight theory of learning

-

2. Humanistic Learning
3. Information processing learning
4. Theory of imitation learning

Options :

686340154133. 1
686340154134. 2
686340154135. 3
686340154136. 4

Question Number : 34 Question Id : 68634039027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340154133. 1
686340154134.2

686340154135. 3
686340154136. 4

Question Number : 35 Question Id : 68634039028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

"Fluid erystalized intelligence theory" was developed by -

1. Gardner

| ]

. Guilford
3. Robert Stenberg

4. R. B. Cattel
Options :
686340154137. 1
686340154138. 2

686340154139. 3
686340154140. 4

Question Number : 35 Question Id : 68634039028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154137. 1
686340154138. 2
686340154139. 3
686340154140. 4

Question Number : 36 Question Id : 68634039029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
"Factor theory of personality” was developed by -
1. Raymond Cattel

2. Robert Stenberg

3.R.B. Cattel
4. Spearmen

Options :

686340154141. 1
686340154142. 2
686340154143. 3
686340154144. 4

Question Number : 36 Question Id : 68634039029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Fgdd PR (GG B [dH™ fog- [ up

1. 308 Bed
2. 3§ T
3. 3R, & Ped
4. TioRET

Options :

686340154141, 1

686340154142. 2

686340154143. 3
686340154144. 4

Question Number : 37 Question Id : 68634039030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who said "Education is what emancipates”?

1. Acharya Shankar

| B

. Swanm Vivekanand
3. Mahatma Gandlu
4. Rabindranath Tagore

Options :

686340154145. 1
686340154146. 2
686340154147.3
686340154148. 4

Question Number : 37 Question Id : 68634039030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g gt wyA B, < ot & o sv= 3 gfa vem o (@ e fa qaan)
1. ST W
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Options :

686340154145. 1
686340154146. 2
686340154147. 3
686340154148. 4

| )

Question Number : 38 Question Id : 68634039031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which of the following modes of education "Adult people of the society arrange for education in order to
train the members of the next generation in that lifestyle and for the realization of their aspirations."

1. Informal Eduecation
2. Formal Education
3. Non-formal Education

4. Adult Education

Options :



686340154149. 1
686340154150. 2
686340154151. 3
686340154152. 4

Question Number : 38 Question Id : 68634039031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154149. 1
686340154150. 2
686340154151. 3
686340154152. 4

Question Number : 39 Question Id : 68634039032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Three main functions speculative. normative and critical are related to -

1. Social Philosophy

-

2. Educational Philosophy
3. Educational Psychology
4. Critical Psychology

Options :

686340154153. 1
686340154154. 2
686340154155. 3
686340154156. 4

Question Number : 39 Question Id : 68634039032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154153. 1
686340154154. 2
686340154155. 3
686340154156. 4

|
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Question Number : 40 Question Id : 68634039033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which aspect of Philosophy determines the curriculum and teaching method education?

1. Metaphysics

| B

. Epistemology
3. Axiology
4. Theology
Options :
686340154157. 1
686340154158. 2

686340154159. 3
686340154160. 4

Question Number : 40 Question Id : 68634039033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154157. 1
686340154158. 2
686340154159. 3
686340154160. 4

Question Number : 41 Question Id : 68634039034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find out the name of mechanistic Philosopher who explained mechanistic soul.

1. Darvin

-2

. Spencer

LFS]

. Spinoija

sy

. Mc Dogal

Options :

686340154161. 1
686340154162. 2
686340154163. 3
686340154164. 4

Question Number : 41 Question Id : 68634039034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g Taad] 2l A TadIe! 3T &) Rs B 82
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Options :
686340154161. 1
686340154162. 2

686340154163. 3
686340154164. 4

| ]

Question Number : 42 Question Id : 68634039035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The name of School of Philosophy which "Child Centered Education” 1 a important contribution of

1. Pragmatism

| )

. Idealism
3. Naturalism
4. Humanism
Options :
686340154165. 1
686340154166. 2

686340154167. 3
686340154168. 4

Question Number : 42 Question Id : 68634039035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154165. 1
686340154166. 2
686340154167. 3
686340154168. 4

Question Number : 43 Question Id : 68634039036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Philosophy considered sense organs based knowledge as untrue because the object and activities which
are percetved by sense organs are all subject to change and as such are false?

1. Pragmatism

| )

. Idealism
3. Humanism

4. Realism

Options :
686340154169. 1



686340154170. 2
686340154171. 3
686340154172. 4

Question Number : 43 Question Id : 68634039036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340154169. 1
686340154170. 2

686340154171. 3
686340154172. 4
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Question Number : 44 Question Id : 68634039037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A School of Philosophy believes that the human mind is inclined towards the Idealization of truth treacly and
goodness.

1. Naturalism

| ]

. Pragmatism

. Idealism

[FN]

4. Realism

Options :

686340154173. 1
686340154174. 2
686340154175. 3
686340154176. 4

Question Number : 44 Question Id : 68634039037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154173. 1
686340154174. 2
686340154175. 3
686340154176. 4

Question Number : 45 Question Id : 68634039038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Name of the Philosopher who said "We have killed the God."

1. Sartre

-2

. Nietzsche
3. Kierkegaard
4. Jespers
Options :
686340154177. 1
686340154178. 2

686340154179. 3
686340154180. 4

Question Number : 45 Question Id : 68634039038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340154177. 1
686340154178. 2
686340154179. 3
686340154180. 4

Question Number : 46 Question Id : 68634039039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A famous method of teaching "Problem-Solving Method" was developed by

1. William JTames

[ ]

. Charles Sanders

[F5]

. Kilpatric
4. John Dewey

Options :

686340154181. 1
686340154182. 2
686340154183. 3
686340154184. 4

Question Number : 46 Question Id : 68634039039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154181. 1
686340154182. 2
686340154183. 3
686340154184. 4

| ]

Question Number : 47 Question Id : 68634039040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Aim of NEP 2020 to achieve 100% Gross Enrolment Ratio in Primary Education by

1.2035

| §)

. 2040
3. 2030
4. 2032
Options :
686340154185. 1
686340154186. 2

686340154187. 3
686340154188. 4

Question Number : 47 Question Id : 68634039040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 2035

| B

. 2040
3. 2030
4.2032

Options :

686340154185. 1
686340154186. 2
686340154187. 3
686340154188. 4

Question Number : 48 Question Id : 68634039041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Aim of NEP 2020 is to increase the Gross Enrolment Ratio in higher education including vocational
education from 26.30% to 50% by the year

1. 2030

| )

~21031
3. 2040
4. 2035

Options :
686340154189. 1



686340154190. 2
686340154191. 3
686340154192. 4

Question Number : 48 Question Id : 68634039041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 2030

| B

. 2031

3. 2040
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Options :

686340154189.
686340154190.
686340154191.
686340154192.
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Question Number : 49 Question Id : 68634039042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According NEP 2020 which one among the following "One umbrella institution" within all four mndependent
vertical institution will be set up?

1. NHERC

[ ]

. HECT

. GEC

LFN]

4. HEGC

Options :

686340154193. 1
686340154194. 2
686340154195. 3
686340154196. 4

Question Number : 49 Question Id : 68634039042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340154193. 1
686340154194. 2

686340154195. 3
686340154196. 4
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Question Number : 50 Question Id : 68634039043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which year NCERT launched the PIED (Project Integrated Education for Disabled Children) with the help
of UNICEF?

1. 1987

[ ]

. 1986
3, 1988

4. 1989

Options :

686340154197. 1
686340154198. 2
686340154199. 3
686340154200. 4

Question Number : 50 Question Id : 68634039043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 1987
2. 1986
3. 1088

4.1989

Options :

686340154197.
686340154198.
686340154199.
686340154200.

AW N~

Question Number : 51 Question Id : 68634039044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Sarva Shiksha Abhiyan (SSA) was launched m year

1. 20035

[ ]

. 2001
3. 2009

4. 2010

Options :

686340154201. 1
686340154202. 2
686340154203. 3
686340154204. 4

Question Number : 51 Question Id : 68634039044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 2005

|

. 2001
3. 2009
4.2010

Options :
686340154201. 1



686340154202.
686340154203.
686340154204.

2
3
4

Question Number : 52 Question Id : 68634039045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator

: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To enhance the quality of Primary Education Blackboard Operation was launched m year -

1. 1986
2. 1087
3. 1988

4. 1982

Options :

686340154205.
686340154206.
686340154207.
686340154208.

AW N =

Question Number : 52 Question Id : 68634039045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator

: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TTfIe R 1 Tura § R B & fog oy I ipdls STIRYH Y= o 7|

1. 1986

| B

. 1987
3. 1988
4. 1982

Options :

686340154205.
686340154206.
686340154207.
686340154208.

1
2
3
4

Question Number : 53 Question Id : 68634039046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator

: None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which article bound the Indian citizens to provide the opportunity of education to their word in age group - 6
to 14 years?

1. Asticle 51

[ ]

CArtiele 52

CAsticle 51A

[FN]

4. Asticle 53

Options :

686340154209. 1
686340154210. 2
686340154211. 3
686340154212. 4

Question Number : 53 Question Id : 68634039046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863401542009. 1
686340154210. 2
686340154211. 3
686340154212. 4

Question Number : 54 Question Id : 68634039047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which article 1s related to RTE Act 20097

1. Article 45

]

CArticle 15

3. Article 21

4. Article 21A



Options :

686340154213. 1
686340154214. 2
686340154215. 3
686340154216. 4

Question Number : 54 Question Id : 68634039047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154213. 1
686340154214. 2
686340154215. 3
686340154216. 4

Question Number : 55 Question Id : 68634039048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

District Primary Education Programme was launched in vear

1.15092

b2

. 1991
3. 1905

4.1993

Options :

686340154217. 1
686340154218. 2
686340154219. 3
686340154220. 4

Question Number : 55 Question Id : 68634039048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 1902

|

. 1091

[N ]

. 1995

4.1993

Options :

686340154217. 1
686340154218. 2
686340154219. 3
686340154220. 4

Question Number : 56 Question Id : 68634039049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who gave the concept of "Managing teaching learning" in the field of education?

1. Henderszon

I

.B. 5. Blocom
3.1 K. Davice
4. Morrison
Options :
686340154221. 1
686340154222.2

686340154223. 3
686340154224. 4

Question Number : 56 Question Id : 68634039049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340154221. 1



686340154222, 2
686340154223. 3
686340154224. 4

Question Number : 57 Question Id : 68634039050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The concept "Constructive Educational Technology” is given by

1. Spearmen

2. Lumsdain

3. 1. K. Davies
4, Silverman

Options :

686340154225. 1
686340154226. 2
686340154227. 3
686340154228. 4

Question Number : 57 Question Id : 68634039050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154225. 1

686340154226. 2

686340154227. 3
686340154228. 4

Question Number : 58 Question Id : 68634039051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which learning theory is related to Linear Programme?

1. Classical Conditioning Theory

| §)

. Operant Conditioning Theory

%]

. Insight Theory
4. Trial and Error Theory
Options :
686340154229. 1
686340154230. 2

686340154231. 3
686340154232. 4

Question Number : 58 Question Id : 68634039051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154229. 1
686340154230. 2
686340154231. 3
686340154232. 4

Question Number : 59 Question Id : 68634039052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who developed the Branching Programme?
1. Normal A. Crowder
2. Skinner

3. Pavlov

4. Thorndike

Options :
686340154233. 1



686340154234. 2
686340154235. 3
686340154236. 4

Question Number : 59 Question Id : 68634039052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154233. 1

686340154234. 2

686340154235. 3
686340154236. 4

Question Number : 60 Question Id : 68634039053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which is not the principle of Branching Programme?

1. Principle of Exposition

{ ]

. Principle Diagnosis

(%]

. Principle of Remindation
4. Principle of Controlling

Options :

686340154237. 1
686340154238. 2
686340154239. 3
686340154240. 4

Question Number : 60 Question Id : 68634039053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frfafaa 3§ 8 & e v o1 g T8l 22
. Hicgre o1 fgid
e o Eia
3. SET (RegewH) &1 g
4. o= @1 faeid
Options :
686340154237. 1
686340154238. 2

686340154239. 3
686340154240. 4
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Question Number : 61 Question Id : 68634039054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which 15 not a teacher controlled strategy of teaching?

1. Laboratory Method

| B

. Lecture Method

%]

. Team Teaching Method

4. Chalk And Talk method
Options :
686340154241. 1
686340154242. 2

686340154243. 3
686340154244. 4

Question Number : 61 Question Id : 68634039054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340154241. 1



686340154242. 2
686340154243. 3
686340154244. 4

Question Number : 62 Question Id : 68634039055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which is component of content related to Psychomotor aspect?
1. Conecepts
2. Fact and Events
3. Verbal Concept
4. Creativity
Options :
686340154245. 1
686340154246. 2

686340154247. 3
686340154248. 4

Question Number : 62 Question Id : 68634039055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154245. 1
686340154246. 2
686340154247. 3
686340154248. 4

Question Number : 63 Question Id : 68634039056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What was the main objective of Adult Education?

1. Traming of Adult People

| )

. To eradicate Illiteracy

%]

. To modify the Adult behaviour
4. Training about Agriculture

Options :

686340154249. 1

686340154250. 2

686340154251. 3
686340154252. 4

Question Number : 63 Question Id : 68634039056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154249. 1
686340154250. 2
686340154251. 3
686340154252. 4

Question Number : 64 Question Id : 68634039057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which 15 not Pillar of NEP 20207

1. Access

{ o)

. Equity

(%]

. Quality
4. Quantity

Options :
686340154253. 1



686340154254. 2
686340154255. 3
686340154256. 4

Question Number : 64 Question Id : 68634039057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f=fafaa 3§ SR Tl 2020 T WY Tol o7

e

1. 989
HTEIdT

[ ]

3. o7a
4, FHET

Options :

686340154253. 1
686340154254. 2
686340154255. 3
686340154256. 4

Question Number : 65 Question Id : 68634039058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In Boddh Education System a ritual take place after completion of Higher Education -

1. Pabbaja Sanskar

[}

. Upsampada Sanskar

LFS]

. Upnayan Sanskar

4. Sammer Sanskar

Options :

686340154257. 1
686340154258. 2
686340154259. 3
686340154260. 4

Question Number : 65 Question Id : 68634039058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154257. 1
686340154258. 2
686340154259. 3
686340154260. 4

Question Number : 66 Question Id : 68634039059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Asgertion A : The period from infancy to adolescence is one of rapid growth and change.

Reason R : The pre-condition for all development 1s healthy physical growth of children.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R 1s NOT the correct explanation of A.
3. A 1s correct but R is not correct.

4, A is not correct but R is correct.

Options :

686340154261. 1
686340154262. 2
686340154263. 3
686340154264. 4

Question Number : 66 Question Id : 68634039059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154261. 1
686340154262. 2
686340154263. 3
686340154264. 4
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Question Number : 67 Question Id : 68634039060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Asgertion A : Reward and Punishment, preaching, Imitation and assimilation are aceelerating method of
socialization.

Reason R : By Process of socialization a child will be an acceptable member of his society.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

| ]

. Both A and R are correct but R 13 NOT the correct explanation of A.

. A 1z correct but R 1s not correct.

[#¥]

4. A is not correct but R is correct.

Options :

686340154265. 1
686340154266. 2
686340154267. 3
686340154268. 4

Question Number : 67 Question Id : 68634039060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 & U ST 0 §. TS SUETU (Assertion A) & 0 H [T § 1 GIRT 39P PRUT (Reason R) &
0,

ﬁ@%a:wﬁﬁﬁ.m.wamwaﬁﬁﬁéﬁmﬁmﬁﬁ
ST

BRI R : AHSIH0 B YichTT J Sl [KIR] (@) Y- T § WiHr ga=d g7

SURIGd Y & alld T, i fGu e faeedi T 9 9a9 Sugad SR &1 984 S
1. A R RS 981 € AR R, A D ol R §

A SR R I el § AT R, A B TEl oo A €

AT 3 AfFTR TS E

AT TSI e APTIR TG ©

Options :

686340154265. 1
686340154266. 2
686340154267. 3
686340154268. 4

| )

[FN]

=y

Question Number : 68 Question Id : 68634039061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Asgertion A : Educational Philosophy is an inter-discipline which inclined towards the discovery of
philosophical solutions of educational problems.

Reason R : Educational philosophy is the production of joint effort of Philosophy and education discipline.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

| ]

. Both A and R are correct but R 18 NOT the correct explanation of A.

. A 1z correct but R is not correct.

[#¥]

4. A is not correct but R is correct.

Options :

686340154269. 1
686340154270. 2
686340154271. 3
686340154272. 4

Question Number : 68 Question Id : 68634039061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 & HUF [GU U §. U@ SfUETU (Assertion A) & U H [A1RGd § I GIRT 39P PRI (Reason R) &
0,

YT A : Veep 327 TP SFR-fawy & Sl Wfeiep el & i GuiH o @il B 3R 9qd &

SRR ; Qg 32, 2% IR e fowg & dgad v &1 396 8

SURIad Y & 3l H, i fGu 1y fasedl § 9 9ad 3ugad SR &1 99 Hifeu]
1. A R R &M 981 € AR R, A S el Rl 3

A SR R I el § AT R, A B wEl oo A &

AT T AfFTR TSR

AT TR e APTR TG ©

Options :

686340154269. 1
686340154270. 2
686340154271. 3
686340154272. 4

| )

LFN]

ey

Question Number : 69 Question Id : 68634039062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R ;
Aggertion A : People think Philosophy is related to the social and God and education is related to the human
behaviour, so they can not be interlaced.

Reason R : There is no need of Philosophy to determine the aim of human life because education is sufficient
to determine and achieve the human life aim.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A.

| B

. Both A and R are correct but R 1s NOT the correct explanation of A.
3. A is correct but R is not correct.

4. A is not correct but R is correct.

Options :

686340154273. 1
686340154274. 2
686340154275. 3
686340154276. 4

Question Number : 69 Question Id : 68634039062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 & U ST 0 §. TS SUETU (Assertion A) & 0 H [T § 1 GIRT 39P PRUT (Reason R) &
0,

HUHYT A - T B I § 5 <29 o1 Iy e 3R SR T 81d1 § 3R e o1 96y g UagR o
eId1 &1 3T 38 uRERE &y 18l g T

BRI R ; {4 Sild= & 3584 & Hulfvd @ & forg 225 3 smawaear 7el & Hifd a-a siga &
TeRg Bl [Ryiid o34 & o fRen gata g1

SURIGd DY & il 1, A U Y faseeui O @ 9a9 S9ged SR &1 997 Sifo|
1. A R R &M 981 € AR R, A S ol R §

A SR R I el § AT R, A B TEl oo AT @

ATE T AfPTR TR

4, A 8! T8I ¢ AfPTR W1 &

Options :

686340154273. 1
686340154274. 2
686340154275. 3
686340154276. 4

| )

[FN]

Question Number : 70 Question Id : 68634039063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Aggertion A : Naturalism accepts negative education.

Reason R : They were against positive education.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true but R 1 NOT the correct explanation of A.
3. A is true but R is false.
4. A 1s false but R 1s true.
Options :
686340154277. 1
686340154278. 2

686340154279. 3
686340154280. 4

Question Number : 70 Question Id : 68634039063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- g U= U U 8. Ud @Y (Assertion A) & ¥U T [aR3d § dl g0 3P PRI (Reason R) &
g4,

HUFHYT A : TFTarg THRIAS R8T B TWPR BT 8|

BRUR : 4, FHRIAD a1 & aog Ul

SR HY & 3l H, = f3u e fasedi § I 9ad Iuged 371 &1 99 S|
1. A R R M 981 € 3R R, A D Hel U 8

A 3R R &M U6l § difdb R, A @1 Hgl TS 6 &

AT T AT R TR SR

AT TSI e APTIR TG ®

Options :

686340154277. 1
686340154278. 2
686340154279. 3
686340154280. 4

[

LFN]

ey

Question Number : 71 Question Id : 68634039064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Asggertion A : At last all Philosopher becomes educationist and educationist become Philosopher.

Reason R : Philosophy is the theoretical aspect of education and education is the dynamic side of Philosophy.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

2

. Both A and R are correct but R is NOT the correct explanation of A.
3. A is correct but R 1s not correct.

4. A is not correct but R 1s correct.

Options :

686340154281. 1
686340154282. 2
686340154283. 3
686340154284. 4

Question Number : 71 Question Id : 68634039064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 & U ST 0 §. TS SUETU (Assertion A) & 0 H [T § 1 GIRT 39P PRUT (Reason R) &
0,

HBYA A - 3 H i arifep, RIS &5 94 § SR Rameme qRi-e 89 91 6|
BIRUTR : G211, (a1 &7 Qi uel & S7R e, axi+ o1 ifodic var g |
SRl Y & 3f1alld H, i fGu 7y fasedl § 9 9ad Sugad SR &1 994 S

1. A R R &M 981 € AR R, A S ol R §
A SR R I el § AT R, A B TEl oo AT @
AT T AfFTR TSR
AT TSI e APTR TG ©

Options :

686340154281. 1
686340154282. 2
686340154283. 3
686340154284. 4

| )

LFN]

ey

Question Number : 72 Question Id : 68634039065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Aggertion A : Pragmatists do not believe in ultimate reality.

Reason R : They believe that everything is in changing process and ultimate reality is in making process.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

2

. Both A and R are correct but R i1s NOT the correct explanation of A.
3. A is correct but R 1s not correct.

4. A is not correct but R is correct.

Options :

686340154285. 1
686340154286. 2
686340154287. 3
686340154288. 4

Question Number : 72 Question Id : 68634039065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 & U ST 0 §. TS SUETU (Assertion A) & 0 H [T § 1 GIRT 39P PRUT (Reason R) &
0,

HIYPUA A - FIERATS!. ==Y guriar I fayrg 78 7@ d 8
HRUI R : 391 a9 3 & Ude axq ulad &1 ufcear § § oIk =Ry gurdfar Fofu & ufesar d g
SRl Y & 3f1alld H, i fGu 7y fasedl § 9 9ad Sugad SR &1 994 S
1. A R R &M 981 € AR R, A S ol R §
A SR R I el § AT R, A B TEl oo AT @
AT T AfFTR TSR
AT TSI e APTR TG ©

Options :

686340154285. 1
686340154286. 2
686340154287. 3
686340154288. 4

| )

LFN]

ey

Question Number : 73 Question Id : 68634039066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the meaning of Psychology in chronological order -

. Science of soul

. Science of mind

. Science of Consiousness
. Science of behaviour

o B B -

Choose the correct answer from the option given below :

1.B.C.A. D
2A.B.C.D
35, C DA
4.D.B.C.A

Options :

686340154289. 1

686340154290. 2

686340154291. 3
686340154292. 4

Question Number : 73 Question Id : 68634039066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

e & 3 1 BTadd & AR Hafyd B -

A 311 & fagiH
B. T &1 fa31

C. a1 & fag=
D. TdeR @1 [a9H

At feu U fomedl | 9 Tt Itk &1 904 Sifol|

1B, EAD

2.A.B.C.D
3.B.C.D.A
4.D.B.C.A

Options :

686340154289. 1
686340154290. 2
686340154291. 3
686340154292. 4

Question Number : 74 Question Id : 68634039067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following operations of mental functions from first to last.

A. Convergent thinking
B. Memory

C. Divergent thinking
D. Evaluation

E. Cognition

Choose the correct answer from the option given below :

1B BLAC.D

| ]

.A.B.C.D.E
3.E.B.C.D.A
4. B.C.D.A.E

Options :

686340154293. 1
686340154294. 2
686340154295. 3
686340154296. 4



Question Number : 74 Question Id : 68634039067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OHE wad & REfafad Sieansd &1 uyg 9 3ifdg ot 3k ogalyg &4

A R Rida
B. IR0 R1fad
C. ARt A

D. Held-
E. U3
i< fau T faedl § © 9el IR &1 99 Hifeu|

1.E.B.A,C.D

2. A B CIB.E

I

3.EB.B CDA
4.B.C.D.A.E

Options :

686340154293. 1
686340154294. 2
686340154295. 3
686340154296. 4

Question Number : 75 Question Id : 68634039068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following learning experience in cone of experience.

A Visual Symbols
B. Verbal Symbol
C. Field Trips

D. Demonstration
E. Exhibits

Choose the correct answer from the option given below :

1.LABCD.E

| ]

.D.C.E.A.B
B G RA
4. A.C.B.D.E

Options :

686340154297. 1

686340154298. 2
686340154299. 3



686340154300. 4

Question Number : 75 Question Id : 68634039068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrefeRaa sftrm sryal @1 3y - Y9 ¥ omafyd &3 -

A T Ul

B. Ylsd® Udid

C. &FYH (bl [eU)
D. fAe=iA

E. We3H

i QU T fomedl © 9 el 3T 1 994 DU |

1.A.B.C.D.E

| ]

DB AB

i

BB DA
4 A C.B.D.E

Options :

686340154297. 1
686340154298. 2
686340154299. 3
686340154300. 4

Question Number : 76 Question Id : 68634039069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Arrange in chronological order :

A. Wood despatch
B. Macaulay Minute
C. Hunter Commission
D. Curzon Education Policy
E. Hartog Committee
Choose the correct answer from the option given below :
1.A,B.C.D.E
2B CHRA
3.C.D,A.E.B
4.B.A.C.D.E

Options :



686340154301. 1
686340154302. 2
686340154303. 3
686340154304. 4

Question Number : 76 Question Id : 68634039069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIAHH & HTHR HaYd B |

A gs faag
B.%;ﬁﬁrﬁ'c’
C. B HHIYH
D. ToiTer4T Ifafg
E. geln widt
i fau U fawedl O 9 9E! SR &1 99 i |

1.A.B.C.D.E

| ]

B TEEA
J.CCD.A.E.B
4 B.A.C.D.E

Options :

686340154301. 1
686340154302. 2
686340154303. 3
686340154304. 4

Question Number : 77 Question Id : 68634039070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange in chronological order :

A. Acharya Narendra Deo Comimittee
B. National Education Commission
C. University Education Comnussion
D. Sadler Commission

E. Gokhale Bill

Choose the correct answer from the option given below :

1LEBAED
2.A.B,.CDE
3 ED.CBA
4. D.E.C.B.A

Options :

686340154305. 1

686340154306. 2

686340154307. 3
686340154308. 4

Question Number : 77 Question Id : 68634039070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BIEHY B THR TaRYT DY -

A. S %% &d 9t
B. AP TRua

c. fayfderery Ruam smar
D. YSTN HIT

E. TiRad fatge (faa)

i fau v faoredi § 1 TE! 3k &1 99 S|
1.C.B.A.E.D

2. AB.CD.E

I

3.E.D.C.B.A
4.D.E.C.B.A

Options :

686340154305. 1
686340154300. 2
686340154307. 3
686340154308. 4



Question Number : 78 Question Id : 68634039071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange The following mventions in chronological order -

A. Telegraph

B. Radio

C. Soundless Movie
D. T. V. Broacasting
E. Satellite

Choose the correct answer from the option given below :
1.B.D.C.E.A
2.A.B.C.D.E
3.JAOB.D.E.C
4. CCAB.D.E

Options :

686340154309. 1
686340154310. 2
686340154311. 3
686340154312. 4

Question Number : 78 Question Id : 68634039071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ e

HfeREa SfdspRi &1 ey & HT9R Hald B |

A. oS
B. &l

C. gob JaiteA
D. Eldi JaRur

E. Ucdrse
i fau e faedl O © Ug! SR &1 99 Sty

1B, 13 EH A

AB.CDBDE

| ]

3.A.B,D,E.C
4.C,A.B.D.E

Options :

686340154309. 1
686340154310. 2
686340154311. 3



686340154312. 4

Question Number : 79 Question Id : 68634039072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following type of learning in Gane's Hierarchy of learning towards increasing complaxity.

A. Signal Learning

B. Chain Learning

C. Principle Learning

D. Concept Learning

E. Multiple Discrimination Learning

Choose the correct answer from the option given below :

1.LABEDE

| ]

BB NE
3.EC.B.D.A
4.C.D.B.A.E

Options :

686340154313. 1

686340154314. 2

686340154315. 3
686340154316. 4

Question Number : 79 Question Id : 68634039072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T & HIETE O O sferm & FEfaiad ueR of sedl sfidddr & o § suaityd &1
A T4 afferg
B. el ey
C. 9 SfferT

D. HGYROT SALTH
E. g fave iy

i< faUu T faedi § ¥ Hg! 37k &1 99 Hifoid|
1.LA,B.E.D.C
2.A.B.C.D.E
3.E.C.B.D.A
4.C.D.B.A.E

Options :



686340154313. 1
686340154314. 2
686340154315. 3
686340154316. 4

Question Number : 80 Question Id : 68634039073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Voice mail digitizes outgoing voice messages and store them 1in the recipient voice mail box in
digitized form.

Statement IT : Telnet is a programme that allows one to log into computers on the internet and use online
database.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statemient IT are incorrect.
3. Statement [ is correct but Statement II is incorrect.

4. Statement [ is incorrect but Statement II is correct.

Options :

686340154317. 1
686340154318. 2
686340154319. 3
686340154320. 4

Question Number : 80 Question Id : 68634039073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIERAR: G Rl o

HY 1 : T U0 18R S aTd (SHT3STE) ISR 1 SIS 1H0 Pl § 3R 3T 3o ied 4 § RiGHie
09 7 9199 H§ TR PRl 2

BHYA L : Co-Ie U WA & [y S1gex] § sed-e UR arl g4 (a1 Sl § SR STHaIgd Sclay ol
qaT f&ar S g |

SURIGd DY & el 1, A 1S Y fasedi O € 9a9 S9ged 3R &1 997 Hifo|
HYFT AR GHI T8l §

YA AR IS AT &

HY 1 el 8. A SUT 11 7Ted §

4. YA 1A §, AAfeh Y 11 951 8

—t

| ]

[FN]

Options :



686340154317. 1
686340154318. 2
686340154319. 3
686340154320. 4

Question Number : 81 Question Id : 68634039074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Society and education are interdependet.

Statement II ;: Education of a society depends on its geographical. social cultural religious and economic
conditions.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

| B

. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement IT is incorrect.

4. Statement [ is incorrect but Statement II is correct,

Options :

686340154321. 1
686340154322. 2
686340154323. 3
686340154324. 4

Question Number : 81 Question Id : 68634039074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e ar YA feu e B
FUA 1 T AR e sfEa B
B 11 : FHTS I (Y81 39T Ui, s, gipiae. aiffe ¢k anfie f@ifadl w ik sdi g
SURIad Y & el T, = feu e fasedi O 9 9ad 3uged 93k &1 99 S|
1. BT 1 AR I G 61 §
HYA 1 SR IS T &
Y 1 el 8. Al HUT 11 7Ted &
4. YA 1A &, AAfeh DY 11 F51 &

| )

[FN]

Options :

686340154321. 1
686340154322. 2
686340154323. 3



686340154324. 4

Question Number : 82 Question Id : 68634039075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I : In material culture included all objects made by human such as pottery clothes. ornaments.
houses. machines. tools. weapons. means of transport and means of communication.

Statement IT : Non material culture included conceptual achievement. such as lifestyle. eating manner
behavioral norms. costumes, traditions, art, skill language literature religion. philosophy ideas belief and
values.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.

4, Statement I is incorrect but Statement II 1s correct.
Options :
686340154325. 1
686340154326. 2

686340154327. 3
686340154328. 4

Question Number : 82 Question Id : 68634039075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIERAR: I BRI V=
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Treq o BFa [RiHd awgd i of |

HY 11 ; 3fHifde FEpld § sfia2iell, @H-u I 93 RvER agRr e Ards. Afd-Rard. Wi,
I, IR, UL, Tiied. ¥, g2, [daR, f[ayM SR geg ol Yebeu-Tars gualerd gnfie i

SURIGd DY B a1, A S 7Y fasedi O 4 ¥ad SUged 3R &1 997 HIfU|
1. B 1 SR 11 &H1 98l §

YA L SR 11 G T §

YA 1 HE &, T Sy 11 TTed §

Y 1710 &, A FU 1 TR B

| ]

[FN]

e

Options :
686340154325. 1
686340154326. 2



686340154327. 3
686340154328. 4

Question Number : 83 Question Id : 68634039076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : As a religion Jainism has two sects Digambara and Shvetambara.

Statement I : Digambara believe that a person desirous of Kaivalya (Emanecipation) should wear clothes and

they accept the basic teaching of Mahavir Swami.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement II are incorrect,
3. Statement I is correct but Statement I is incorrect.

4. Statement I is incorrect but Statement II 1s correct.

Options :

686340154329. 1
686340154330. 2
686340154331. 3
686340154332. 4

Question Number : 83 Question Id : 68634039076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e & Py e MU B
BYA 1 Y8 & =Y H SyH J g1 Uy § - f377eR 3R JarsR|

T 11 ; farial @t fayr & o Soed (fd) W o3 & S99 ofda &1 a3 Ug-H 91fet 3R 3 HeTdR
Wl B o9 a1 31 WieR a3d ¢ |

SWRIGd B & el H, A= f3u e fasedi § I 9ad S9gad 93k &1 99 S|
1 BYT1 AR 1 G e €

YA 1 3R 11 T T §

Y 11 8. AP PYA 1 TEd §

Y 1710 &, Afh HUT 1 T8 &

[
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ey

Options :

686340154329. 1
686340154330. 2
686340154331. 3
686340154332. 4



Question Number : 84 Question Id : 68634039077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The person who has studied educational philosophy can only answer the questions as to how
much and why all have to change. and how much and why have not to change.

Statement II : Education has to keep pace with scientific inventions and changes in social religious, political
and economic condition else we would not able to keep us occur in the time to come.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement II are correct.

-2

. Both Statement I and Statement II are incorrect.

Laa

. Statement I is correct but Statement II is incorrect.

4, Statement I is incorrect but Statement II is correct.

Options :

686340154333. 1
686340154334. 2
686340154335. 3
686340154336. 4

Question Number : 84 Question Id : 68634039077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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SWRIGd DU & 1l §, i fau U fasedi § 9 Fa9 39ged 37 o1 99 Hiuiu]
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Options :

686340154333. 1
686340154334. 2
686340154335. 3
686340154336. 4



Question Number : 85 Question Id : 68634039078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement - I : The major important representation of ICT in education 1s the presentation and use of teaching
aids.

Statement - IT : NCERT New Delhi has taken up a major role in use of ICT in education.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement [ and Statement IT are false.
3. Statement I is true but Statement II is false.

4. Statement [ is false but Statement II is true.

Options :

686340154337. 1
686340154338. 2
686340154339. 3
686340154340. 4

Question Number : 85 Question Id : 68634039078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340154337. 1
686340154338. 2
686340154339. 3
686340154340. 4



Question Number : 86 Question Id : 68634039079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement - I : Unconditional Stimulus should be stronger than conditional stimulus. If conditional stimulus
will be stronger than unconditional stimulus then the animal not notice the unconditional stimulus.
Statement - II : If after conditioning not provide the unconditional stimulus after conditional stimulus then
conditional response will be indeed. This situation is called extinction.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement [ and Statement II are true.

| ]

. Both Statement I and Statement II are false.

Laa

. Statement I is true but Statement IT 1s false.

4, Statement I is false but Statement II is true.
Options :
686340154341. 1
686340154342.2

686340154343. 3
686340154344. 4

Question Number : 86 Question Id : 68634039079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR sy Ry e:
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Options :

686340154341. 1
686340154342. 2
686340154343. 3
686340154344. 4



Question Number : 87 Question Id : 68634039080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the naturalistic philosopher name -

A. Darwin

B. Whitehead

C. Hunley

D. Herbert Spencer
E. Aristotle

Choose the correct answer from the option given below :
1. A B.C Only
2.B.C.D Only
3.A C.E Only

4. A C.D Only

Options :

686340154345. 1
686340154346. 2
686340154347. 3
686340154348. 4

Question Number : 87 Question Id : 68634039080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yfaard] areite &1 =g o -
A Bl
B.§l5CES
C. &Td
D. §dc W
E. 33&]
i< fU 7T faded § § el SR &1 99 Hifuil|
1.HAAA. B.C
2. %ad B.C,D
3. HAdd A, C.E

4. FIAA.C,D

Options :
686340154345. 1
686340154346. 2



686340154347. 3
686340154348. 4

Question Number : 88 Question Id : 68634039081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out Thorndike's main laws of learning

A, Law of Connections
B. Law of Exercise

C. Law of Effect

D. Law of Conditioning
E. Law of Readiness

Choose the correct answer from the option given below :

1. A.B. C Only

[

.A.B.C.D Only

L¥¥]

.B.C. E Only
4.B. C.D. E Ounly

Options :

686340154349. 1
686340154350. 2
686340154351. 3
686340154352. 4

Question Number : 88 Question Id : 68634039081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YFSIS® P HETH (Tha-) BT I & Fag gagu)
A Ty & Hag
B. 31T &1 g9
C. 941G &1 a9

D. 3P &1 g9
E. dRal @1 a9

i fau 7T fasedi & T el STk &1 994 Bifeiy|
1. PIAA.B.C

$AUA.B.C,D

3. %adB.C.E

4, 9dUB.C.D,E

-2



Options :

686340154349. 1
686340154350. 2
686340154351. 3
686340154352. 4

Question Number : 89 Question Id : 68634039082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the stages of learning on the basis of Thorndike's experiment with Cat ;

A. Block

B. Drive

C. Goal

D. Random Movement
E. Bond

Choose the correct answer from the option given below :
1.A.B.C. D only
2.B.C.D.E only
3.A.C.D.E only
4.A.B.D.E only

Options :

686340154353. 1
686340154354. 2
686340154355. 3
686340154356. 4

Question Number : 89 Question Id : 68634039082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B. glkd

C.c&g
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1.$adA. B.C.D

.$deB.C.D,E

3.9dd A, C.D.E

4. PATA.B.D.E
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Options :

686340154353. 1
686340154354. 2
686340154355. 3
686340154356. 4

Question Number : 90 Question Id : 68634039083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out cognitive theories of learning :

A. Guthril's theory of contiguity
B. Tolman's theory of learning

C. Insight theory of learning

D. Hall's theory of reinforcement
E. Lewin's theory of filed learning

Choose the correct answer from the option given below :

1. A.B. Conly

[

.B.C.E only
3.B. C. D only
4. C.D. E only

Options :

686340154357. 1
686340154358. 2
686340154359. 3
686340154360. 4



Question Number : 90 Question Id : 68634039083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T & I3FTES HEid gasU]|
A TS @1 el ot Risid
B. T84 &1 ey &1 Ui
c. e @1 3 fygha

D. B0 &I Waa- [aid
E. difa &7 & i &1 faid

i fau U fa@redl 5 O el 3Tk &1 9494 S|
1. 99U A, B.C
2. HAdB.C.E
3. $ddB.C.D
4.%dd C,D.E

Options :

686340154357 1
686340154358. 2
686340154359. 3
686340154360. 4

Question Number : 91 Question Id : 68634039084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out three main types of learning

A Verbal Learning

B. Physical Learning

C. Moter Learning

D. Problem Solving Learning
E. Non-verbal Learning

Choose the correct answer from the option given below :
1.A. D.Bonly
2.A . C.Donly
3.A. B. Conly
4.B. C.D only
Options :

686340154361. 1
686340154362. 2



686340154363. 3
686340154364. 4

Question Number : 91 Question Id : 68634039084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST & ol 0% PR §diEy|

A, YT SETH

B. Bl HfeH

C. IR ATy

D. JHIT qTE Sy

E. 3f¥nfead e
i AU Y faoedl O O 9ad SUgad Gk &1 99 Piforg|
1.Pdd A, D. B
2. BAI A, C, D
3. Bad A, B, C
4. PdUB.C.D

Options :

686340154361. 1
686340154362. 2
686340154363. 3
686340154364. 4

Question Number : 92 Question Id : 68634039085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the types of learning in Gane's Hierarchy of learning.

A. Concept learning

B. 5. R. learning

C. Verbal learning

D. Non-verbal learning
E. Reflective learning

Choose the correct answer from the option given below :

1.B,C.D. E only

[

.A.B. Conly
3.A.C,Donly

4. A, C.D.E only



Options :

686340154365. 1
686340154366. 2
686340154367. 3
686340154368. 4

Question Number : 92 Question Id : 68634039085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4 & e FigH O ST & UHR gdieu|
A TopegHr ey
B. U, 3. HEH

C. s SHETH
D. 3¥fsgd ey

E. faqeigul st
1= fu e fasedl § 9 el Iugad 9Tk &1 90 S|
1. $da B.C.D.E
2. PAUA.B.C
3. Pad A, C.D
4. HATA.C.D.E

Options :

686340154365. 1
686340154366. 2
686340154367. 3
686340154368. 4

Question Number : 93 Question Id : 68634039086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out factors affecting learning process.

A Motivation

B. Fatigue

C. Environment

D. Learning method
E. Imitation

Choose the most appropriate answer from the option given below ;
1.B.C.D.E only
2.A.B.C.D.Eonly
3.,AC.D.E.B only
4.A.B.C.D only

Options :

686340154369. 1
686340154370. 2
686340154371. 3
686340154372. 4

Question Number : 93 Question Id : 68634039086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIETT uicha1 &) UHIldd - ad $RS Fd8U]

A, TR
B. UHH
C. aIaraRo

D. 3fer ggfd
E. 3P0

i fAU Y fasetl O © 9 SUgad 9Tk &1 99 Difru|
1.$dd B.C.D.E

2. AT A.B.C.D.E

3. P90 A, C.D.E.B

4. PAAA. B.C.D

Options :

686340154369. 1
686340154370. 2
686340154371. 3
686340154372. 4



Question Number : 94 Question Id : 68634039087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (School of Philosophy)) LIST II (Ukimate Reality)
A |Pragmatism I |God
B. [ldealism IT. [Matter
C. |Realism 1T |Nature
D. |[Naturalism IV, [No ultimate reality in making process

Choose the correct answer from the options given below:

1. A-I. B-II. C-IIIL, D-IV

| B

CA-IL B-IV. C-1I1. D-I
3. A-IV. B-1, C-I1. D-T1T
4. A-I. B-IV, C-I1, D-IIT

Options :

686340154373. 1

686340154374. 2

686340154375. 3
686340154376. 4

Question Number : 94 Question Id : 68634039087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 & 91y g 11 &1 e Sifs
=1 &l 11

@) csiferm gurdam
A RBumFEErg | L ER
B. [sre=iarg 1. [gerd
C. [ayriarg 1L [Haefd
D. [Udidarg 1V, [FE10r & gfchan H @iy sifas gurdl el g

[
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1. A-I. B-II. C-III. D-IV

[ ]

CA-ITL B-IV, C-IT0, D-1
3. A-IV. B-I1. C-I1. D-III
4. A-1. B-IV. C-IL. D-III

Options :
686340154373. 1



686340154374. 2
686340154375. 3
686340154376. 4

Question Number : 95 Question Id : 68634039088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

[LIST I (Name of Philosopher) LIST II (Teaching Method)
A |Plato I |Play way Method
B. |Aristotle II. |Dialectic Method
C. |Socrates 1T Inductive and Deductive Method)
D. [Froebal IV, |Question Ans. Method

Choose the correct answer from the options given below:

1. A-III. B-IL. C-IV. D-1

| B

. A-TL B-IIIL C-IV. D-I
3. A-L. B-II. C-III, D-IV
4. A-II. B-IIL, C-1. D-IV

Options :

686340154377. 1
686340154378. 2
686340154379. 3
686340154380. 4

Question Number : 95 Question Id : 68634039088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IIL, B-IL, C-TV. D-I
2. A-IL B-IIL. C-1V. D-I
3. A-I B-IL C-IIL D-IV
4. A-IL B-IIL C-1. D-IV

Options :

686340154377. 1

686340154378. 2

686340154379. 3
686340154380. 4

Question Number : 96 Question Id : 68634039089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (School of Psychology) LISTIT
A |Gestaltism I |William Wundt
B. |Behaviouralism II. PJohn Watson
C. [Functionalism III. [Wolfzang Kohler
D. [Structuralism IV, |William James

Choose the correct answer from the options given below:

1. A-I. B-II. C-IIIL, D-IV

| )

. A-L B-III, C-IV, D-II
3. A-IL, B-III. C-IV. D-1
4. A-IIL. B-1II. C-IV. D-I

Options :

686340154381. 1
686340154382. 2
686340154383. 3
686340154384. 4



Question Number : 96 Question Id : 68634039089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yl 1 & Y G 11 BT HeE Sife
Wrmﬁm%% I I

A. [FHY TPidarg L [SRmE T=e
B. [gagrac 1L [&9 aregH
C. [roraE I1L [ge 17 BIeR
D. [{¥gag V. [f[GTeTH o g

Hid feu 0 f[aoedl § O el 3Tk &1 944 S|

1. A-I. B-II. C-III. D-IV

| B

cA-L B-IILL C-IV. D-II
3. A-II. B-IIL. C-IV. D-1
4. A-IIL, B-II. C-IV. D-I

Options :

686340154381. 1
686340154382. 2
686340154383. 3
686340154384. 4

Question Number : 97 Question Id : 68634039090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Learning Theories)|LIST TI (Psychologist Name)
Hierarchy of Learning | I |Thordike
Conk of Expenience II. [Paviov

Conencftionism IIT. |Gane
Classical Conditioning | TV, [Edger Dale

=l il Il e

Choose the correct answer from the options given below:

1. A-I, B-1I. C-III, D-IV

| )

CA-IV. B-11L C-1IT, D-I
3. A-IIL B-IV. C-1. D-II
4. A-IV, B-I11. C-1, D-I1
Options :

686340154385. 1
686340154386. 2



686340154387. 3
686340154388. 4

Question Number : 97 Question Id : 68634039090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 % 91y G 11 BT e e

a1 g3 1
i & fag) |(@FEmiae o19m)
A rm @ anE | L pHeE®

B |3Hyd ¥ 1. [ggaia
C. [qarsae 1L =
D. [Fiig®d Hgad]| IV [T37R 54

- fau e fawet | 9 Wel SR @1 =997 Bifon|

1. A-I. B-IL. C-IIL. D-IV

[ ]

CA-TV, B-ILL C-II0. D-I
3. A-L B-IV. C-1, D-II
4. A-IV. B-1II. C-1. D-1I

Options :

686340154385. 1
686340154386. 2
686340154387. 3
686340154388. 4

Question Number : 98 Question Id : 68634039091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Psychologist Name)|LIST II (Experiment with Animal)
A |Thorndike I |Apes
B. |Paviov II. [Rats and Pigeon
C. |Bkinner 11 |Cart
D. |[Kohler IV, [Dog

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-I. D-II
2. A-IV. B-III. C-II. D-1
3. A-I. B-IIL C-TV, D-III
4. A-IIL B-IV. C-I1, D-1

Options :

686340154389. 1

686340154390. 2

686340154391. 3
686340154392. 4

Question Number : 98 Question Id : 68634039091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 & Y G 11 BT HeE Sife

T 1 T I
(ST BT AR\ AR R Ty T fa )
A SRS

A L [0l @)

B. [qdcid 11 [98 3R BgaR

C. [Fpe 111 [feeed]

D. [@ieeR V. [

i< faU T fdedl § E 9el STk &1 9 Bt

1. A-ITT. B-IV. C-1. D-II
2. ATV, B-1IL C-I1. D-1
3. AL B-IIL C-IV. D-III
4. AL B-IV. C-11. D-1
Options :
686340154389. 1
686340154390. 2

686340154391. 3
686340154392. 4



Question Number : 99 Question Id : 68634039092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Stages of Cognitive Stages)|LIST II (Learning and Activity)
A |Sensory Motor Stage 1. |Logical Thinking
B. [Pre Operational Stage I1. |Part and Whole Concept
C. |Concrete Operation Stage 11 |Exploration Stage
D. [Formal Operation Stage IV, |[Reflexive Actions

Choose the correct answer from the options given below:

1. A-I. B-III. C-III, D-IV

| B

AL B-IV, C-11, D-1
3. A-IV. B-III. C-1. D-II
4. A-IV, B-11II, C-II. D-1

Options :

686340154393. 1
686340154394. 2
686340154395. 3
686340154396. 4

Question Number : 99 Question Id : 68634039092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I, B-III. C-III. D-IV
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2. A-IIL B-IV. C-II. D-1
3. A-IV, B-111, C-1. D-II
4. A-IV. B-1II. C-I1. D-I

Options :



686340154393. 1
686340154394. 2
686340154395. 3
686340154396. 4

Question Number : 100 Question Id : 68634039093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LIST I (Theories of Intelligence)}]LIST II (Psyvchologist Name)

A |Uni factor theory I. |Spearman

B. |Two factors theory II. [Thurston

C. |Group factor theorv III. [Howard Gardner
D. Multiple intelligence theory | IV [Binet

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

| B

CA-IV. B-1, C-II, D-II
3. A-IV. B-1, C-I1. D-ITT
4. A-1. B-IV, C-I1, D-III

Options :

686340154397. 1
686340154398. 2
686340154399. 3
686340154400. 4

Question Number : 100 Question Id : 68634039093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-1IL. C-IIT. D-IV

o|o|w|;

2 A-IV. B-1. C-111, D-II
3. A-IV, B-1. C-11. D-III
4. A-I. B-IV. C-11. D-III

Options :

686340154397. 1
686340154398. 2
686340154399. 3
686340154400. 4



